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1. Presiding Officer will announce the set numﬁer of the quésﬁon &)a‘per administered after distributing the
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given in the Answer Sheet. : '
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Part-1|

qHr=a {1+
GENERAL KNOWLEDGE

=& fawew A - (10 x 4 = 40 3iF/Marks)
Choose the correct answer:

1.

:
6.
.r
f
7
|
8.
9

9 R FF € fHa1 791 91 ?
When was the Arjuna Award started ?

(@ 1952 - : (b 1961

(© 1965 @ ‘ﬂﬁ 4 =1 TEi/None of these
The number of Union Territories in Indiais ............ R .
@) 7 () 8

© 9 - {(d) =79 @ = FEi/None of these
Rt Sraym @ et & € 2 if

Who drafted the Indian Constitution ?
(a) dfed SETELE™ Y8&/Pandit Jawaharlal Nehru (b) 2. 5| va =5y Dr. Bhim Rao Ambedkar

© TfSH g/ Sarojini Naidu E) ﬁﬁ ﬁ‘? ’-TélLNone of these
form 9 W1 THEF FY T HE L 2
Which river is called ‘Salt River’ ?

(a) TiREd/The Godavari ' (b) TVThe Luni

(©) F=1/The Krishna : (@ T 9 =% 7i/None of these :

. e HeER S S TE e © 2

Where is the Birth place of Lord Mahavir4 ? B

(a) TRfag/Patliputra T\ (@) 3urEl/Vaishali
(c) Sierwg/Kapilvastu - | (d T 3 =E FEi/None of these
w ATE T e 3 feet —% I {! N
The book ‘Raghuvansha’ was written by ................\..
(@) Toh T/ TusliDas : . ) amaﬁm/Kan Das
(c) Wsw/SoorDas -~ : (d) = Valmiki
| T W A 1 e A sEaeR R 2 -
Which two countries signed the Panchsheel agreement ? - ,
« (@) sRa-=/India-China . _ (b) sRA-w=/India-Pak
(¢) wma-=ari/Iindia-Nepal : (d) w=-=r/Pak-China
Sfas TeRaad 20TE Fel W e € ?
Where the famous Hazratbal Mosque (Dargaha) is snuated 2
-(a) Tyme/Shimla : ,  Ab), 8ﬁ=m?/Snnagar
(c) =vEr/Chandigarh 2 ~ (d) ¥ 9 =i 7Ei/None of these
mmaﬁ‘mw’aﬁﬁmmﬁ% 7
Which City is known as the ‘Queen of Arabian Sea’?
- (a) #f=A/Cochin f (b) sei/Bangalore
(c) T=r&/Mumbai (d) I/Pune
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10. T T AHE FE T ?
Where is the Tomb of Humayun ?
(a) sI"R/Agra () fe==it/Delhi
(o) sfevsiBhatinda - (d) gfaEEdLudhiana
s - 1l
= Part-1i
wifas fagr
PHYSICS
wdt fawmea = : 4 ‘ (15 x 4 = 60 3(H/Marks)
Choose the correct answer : = ‘
11. o Re o0 oed B S S € )
A red ribbon placed in green light williook. :
\ (a) FE/Black ; () /Green .
(c) Fal/Orange @ THdE =7 Tei/None of these
12, frdt o =1 TR 394 A @ Fr aw # faew mﬁmmﬁmmm% :
Heat is transmitted from higher to lower temperature through actual mass motion of the moleculesin :
{a) T=rer/Conduction g * . (b) S=/Convection
(c) fafw/Radiation ‘ : @) T & /Al of these
13- ................... @@ﬁmﬁaﬁm ‘mmﬁMﬁaﬁﬁm%l
e T Absorb the Harmfu! UV radiation from jnWrevenﬁ it from reaching the earth.
(@) st wa/Ozone layer % aiFaUExosphere
(o) = wvsci/Magnetosphere, , 5 d) 379 9 %K% Jei/None of these
14, SI wgfa  faoch B g e . s |
The Sl unit of currentis 2. .
. (a) wfrEyAmpere E . (o) Frer=/Coulomb
(c) 3=/Ohm - (d) ©Mho
15 R AA AN H FFA T AT 2 \* -
The central point of the surface of the mirror ISKROWR A5 .o ; : :
(a) se/Focus : () fsa/Pole 2
(¢ F=/Radius @ ¥ ﬁ\a-f!s’ T&/None of these '
16. TP ¥ YgH U YER B P B AW I ‘ : 4
What is the name of the fuel specially used in rockets 2
- (a) F==/Propellant | _ (b) T da/Special Oil %
(c) Hie/Solar ‘(d ¥ | =i FEi/None of these .
17. T ST T I T @2 | e | W9 B ATV E | T o TR ST A R A J
A penduium is undergoing simple harmonic motion. The velocity of the bob in mean position is ‘v'. If nowits
amplitude is doubied, keeping length same, its velocity in mean position will be : X
@ w2 ) v :
(©) 4v - () ¥°9 9 =% 7e/None of these -
18. gedt H TAE T YA T FME 2

What is the escape velocity from the earth’s surface ?

(@ 11.2 FRAPrs/11.2 km/sec -~ (o) 12.2 fFREFvs/12.2 km/sec
(© 16 fwviA#s/16 km/sec (d) 375 @ =k TE/None of these __
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19. it &2 el 1 o Fadwar gt € 2
Which property do all bodies have whiie falling ? :
(a) eI/ Gravity : (b) =/Acceleration
(c) =r/Speed @) T4 @ = 7§/ None of these
20. T=9 BT U T AW F@S '
The lightest metalis .................... - :
(@) dfezm/Na : . ' (o) fafaEw/Li :
() /Mg - ' d) 7= 3 % TE/None of these

21. U foep ew ford W oifwa & 220v—100w | 3% 78 110v R F1 %2 &, a 3991 9Iie =7 2 -

An electric bulb is rated 220v—100w. Ifit is operated at 110v, then power consumed by it will be :

(@ 100w e L) 25w
(c) 400w o ise d) 379 9 % TE/None of these
22 Dyne/cm censensnsessnienaes W‘ﬂ\:fg% - / s s
" Dyne/cm is the unit of .............. s
) 11@11?1?1'61/Surfar.:eTensionﬁ"" ©) m?i/Work
(c) s&/Force : @d T 9 =E ’-ﬁ'TINone of these

zs.mﬁz‘}awuﬁéww

The instrument for the accurité Measuréme ofemfofa e - :
(a) deeHdey/Voltmeter * (b) dR Potentiometer

() T AR F1 =T IY/A slide wite bndge o 3 9 FE T81/None of these

24. 2 iy w9 @aﬁqwdsﬂqﬁmﬂaﬁam%mﬁﬁﬂww """"""""""""" TR 2 |
Two resistances 1 ohm and 2 ohm are connected in para!!el The@\quwalent re5|stance of the combination
isequalionr=—_- ... .
@ 1x21+2 (b)1+2/1+2
© 1-2 ] @ FTHIFR '-tg“f/None of these

25. st dorgd fFa et % :
Nuclear fusion occursin ................... ]

(@) TS FH/Hydrogen bomb , (b) =27 =/Neutron bomb
(c) =gfeerr feset/Nuclear reactor - @ 379 7 =% T/None of these
T - 1 :
Part - Il , :
2 MATHEMATICS
wEt famew oA (15 x 4 = 60 3=/Marks)

Choose the correct answer :

26. Q?faﬁ‘aﬁﬁwaﬁtmwms 7 % 3R 39F SR 550 cm? 2, At TEET FAr T
The radius and height of a cylinder are in the ratio 5: 7 and its volume is 550 cm?®. Find its radius :
(@ 39#/3cm - - (b) 4¥Ht/4cm
\ © 5d./5cm: d) 6€#./6cm
27, GO X2 - 5x + 6 = 0 R x2 - 6x + 8 = 0 F IWALTS Hor F41 21
The common root of the equation x>~ 5x+6=0and xX2—6x+8=0is ................... :
(@) x+3 & (bl x=2
(© x+4 e T

4
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13.

/%%/UWOBHJBy NewJobsI ﬁfo.in
28.
%
.
31
2
3
"

35.

36.

6

@m‘gawmmooﬁtﬁ %laﬁmﬁwﬁnéﬁﬁmmmﬁ =, aﬁm@ﬁawmmm?

The perimeter of a rhombus is 100 cm. If one of its diagonals 1S 14 c;m then the area of the rhombus
B e ;

@ 144cm® (o) 225m2
. (o) 336Ccm? : : @ TEH =1 Ei/None of these

wwmmmmmmsssowﬁa% ?
The diameter of a circle whose area is 3850 m2is:

(@) 70m . - © 65m
(© 75m @ = @ % TEi/None of these
w9 I E ?ﬁﬂhz&%?ﬁsﬂaﬁ ﬁv@nw%&
A polygon has 44 dlagonals the number of its SIAES IS woevveeerneesemse i
@ 9 \ : ‘ ® 10 ,
(e M \\ @ FEE =7 Ti/None of these
W\ =

oz e S Wﬁ@mmmwmwvm%
If the radius of a cyhnder is doubl 4, then how many t|mes thasvolume will increase ?

JNay 2

© 8 : %ﬂ =1 “5 FE ‘-ﬁﬁlNone of these'
& wEEd 12% mﬂmﬁiaﬁzﬁ% i et S 7
A bicycle is purchased at Rs. 800/- ata proﬁt of 12%. Its selling Price s ...ooveenene- -
() Rs.896/- , (0 Rs.704- :
(©) Rs.788/- - ‘ @ T8 ?ﬁ% @i/None of these
449 1 70% 1 €2 \\\ ‘
What is the 70% of 4497 St \
5 { i 7
_ (a) 3143 (b) 3333 ;
(©) 3493 : @ 3393
e B x 6(2/3 + 4/9) x 2/3=7
8 x 6(2/3 ~ 4/9) x 213 = ? -
@ 42 W ; =
© 43 ; : @ THE =7 7Ei/None of these

3 =, mﬁ@qﬁ%mmmaﬁ %, @Wmﬁmﬁﬂ@mmm% | TEg T T H
EIERER IR Hre. Fred | e
2 cubes each of volume 64 cm? are 1omed end to end. Find the surface area of the resulting cuboid :

(a) 160cm? ~ | () 192cm
() 224cm’ e @ T ‘q’ﬁi =#i/None of these

@mﬁmmrﬁ.,aﬁgéstﬁ SR s L e \Wﬁeﬁ?mmuam ammwraﬁm@dm*a
wfa Hl. aﬁﬂﬂﬁaﬁﬁ@éﬂm?

Find the cost of papering the walls of aroom 10 mtr. long, 5 mtr preadth and 5 mtr height with paper 75 cms
wide @ Rs. 10 per mitr. :

(a) Rs.1000 : () Rs. 2000
(©) Rs.3000 . (d) Rs.3500

&
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Sin 40°) F1 qeg 7 2 >
Cos 40° + Sin 70°'sin 40°) is

37. (Cos 70° Cos 40° + Sin 70°
The value of (Cos 70°

@ 32 = : b 1 _
(© Cosaso° : (@ Sinso° :
38. gﬁ%wﬁgﬁ,a‘r%%mﬁgﬁw =, ﬁ{ﬁwé,ﬁmm‘mwmm3o° 2 | R %t %o e
T | :
The angie of elevation to the top of a tower from a point on the groung, which is 30 m away from the foot of the
. tower, is 30°. Find the height of the tower 2 3
/ Vi
e 30,5 . el ®) 15m
© 153 — | @ 20 /3
39. ARk 3% yﬁfaﬁa;aﬁan:‘razmaé’a B, W 3 T H e o gy ?
If simple interest isRs. 36 @ of 3% per annum and time is 3 years, then find the Principal ?
(8 Rs. 400 . () Rs.500 .
{¢) Rs. 600 : 2 @ ¥ a=E TEI/Norfe of these
40. (25/81) 7 =1 7 ) - .-y i o = 4
s C AN ™
Find the vaiue of (25/81)2 : e ¥ M.,
1 e - = ’ =
@ 9725 () 5/9 = S =
© 95 @259 ¢ &
| IR Y] i
L Part.lv
CHEMISTRY /- : :
HE fashew o (10 x 4 = 40 37/ Marks) e
Choose the correct answer : =
. RS Sy e I 2, 5 e s e & ,
Isotopes are atoms showing same ...~ : n
@ =T gEm/Atomic Number ad ®) T T=wE/Atomic mass
© =A==t F&/Number of Neutrons @ P,0,
42' Fa'éﬁﬁﬂn—@géffaﬂconﬁguraﬁon ............................. %' g
The most stable configuration of ri-butane IS he
@ /Skewed (b) THTH/Eclipseq
\fgj}@‘ i Sﬂé‘TIStaggered or anti @ =92 % T/None of these
= hY N Y A ] -, 2 ¥ Dns
43.6137%7@@1@@1%:133?113@%3—:3%3 --------------- !
A crystal which is hard and has high me!ting poigrss . . g
B (FE-gash)/Covalent ‘ 'quﬁm/lonic tes.
(© (ufes)/Metallic @ (smfEE)/Molecular
44. T S 0 1 T ey -,
The Compressibility factor for an idea] ass. -
@ 1.5 7 B 1.0
20 : e
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45. A = e ey 609 ¥ SR B W T 7w fvm # ;

In which orbital region is the probability for finding electron in nucleus finite -

1s - ) 2p
(©) 2s = @ 3d \ ' :
46. TS STTRIEE T GERT-F -+ovevesvoeen %_ n 1\
Zinc oxide is called .......... - : :
TeararR+ ge/Philosopher’s wool . (b) T wiee/Epsom salt
(c) TR wAfew/Tartar emetic ‘ (d) TR fE/Gobargas

= \
47. At wete forem | (1) fam s wdite £ 2
~ In a chemical Pquanon what does the symbol ( ) signify 'i :

@) ﬁqa:.am/eas State o () 3@ sEE/Liquid State
(c) 219 s1FEq/Solid State . (d) fwe sEEEn/Colloidal State

48. dfE B, C, N, F e—ﬁ"{sl%ﬂtu@*ﬁa$mﬂmﬁmﬁam%7

Consudermg the elements B, C, N, F and Si, the cgrrect order of their non-metallic character is -

i

@ B>C>Si>N>F ﬁ,), Si>&>B>N>F

@ F>N>C>B>Si ; @ W@WNcﬁ‘ofthese
49. f791 % ¥ =8 A I g FE- E 2 %ﬁ

~ Among metals, the poorest conductor of hea

(a) E/Lead ; (b) f=lin ~
\anl&smuth Zﬁf Mercury
50. m@ﬁémﬁﬁ?ﬁﬁﬂmﬁaﬁm?7 C N
Which gas is used in extinguishing fire ? e ' \l \
(@ co, == (®) NH, : 4

(© OK = : (@ THIFE as*r/None of these

i e
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